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Solve each equation.

; AL S¥alagdl e US S
2 x—5 9 Tx 1\°¢ l
361‘+1=6T+6 (_) =<_) 16x+3:4_4x+7 (_) =642
3 4 2
2 +1 ’)L-'—é '_— ’Si xt+3 41 +7 L
z-5 2 \ % 2 C e\ &
(57') = ¢ (_t_) :((\3 \/\/ (L,) = 4 (_‘_Z) :(2>
2 (2 +1) r +6 -5 \2,?.%%1’ 2é+3) L';L+7 -c é(lz)
& = & (=) (=) (4) -4 2 = 2
N3 NI
2% +2 = 246 x-5 - -3 22 + b =47L+¥ —-—C:é(“-:)
2
x =4 1+-z—x=>' 6-1 = 2% -c =3
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=2/ | \=z° (c =-3)
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Solve each logarithmic equation. Round to the nearest hundredth,

Inx==6 6 + 2log5x =18

logg x° = 12
4 2
xr = e \""BS"L :‘%‘é "'S: %
~ 5 7
Z E \03';1:6 z = Jg’
¢
Sx = [0 Z = gtr
z = 10° fﬁ_l.o%l
5 (A= "™"%)
., 9 D emes )
L = £00 °°°
log, (x> — 1) = 4 —3Inx=-24 4 — 3 log (5x) = 16
£ 4
x -1 = 3 oy = —24 log 5z = 16-1
% - -3
7( —l = g‘ 3 \ o = 8, == lt
\Ua I = ¥
xl = g?/ (I/)l, = g -4
4 = (O
z = :J—X/?: > =z @ 0% (.U'L'
[x = = 9.08¢ 7 = 298 ( L=
| il DY ____
(= = 0. coos2l
— I




@%LM‘MIQ{)M\M

0502509447

Solve each equation.

https://t.me/mathbook12GEN

asly) asly dnels alasuwly dec b ol co¥alas) Jo

https://t.me/alllaaam82

AL S¥alagd! e JS U

logy x =log; 3 + log, (x — 2) 19813 (xZ + 3) = log; 52
Icia(z - log (2 =25 b - Jx-%X I SN =% 2
I JH J, , T
b £ =2 x 2% = S -3
x = 3(x-2) I (2 = %\ ZL: 49
— " ) 4
3% - ¢ | 2 = =[ug =[77)
F X7 ___A
log, (x +3) = logy, x + logy; 4 log 2x = log, (x> — x + 2)
loo’ (2 43)- los 2x(u)» = \\ 2y = x —x +2C(x-1)
SN NAn)-tonaE . —
A 2 =2 x 42 —oO Z -2\
x4+ = 4 x . {;J
X =R x £72 - o
3 - X - X )
(e —1)(x-2)=0 |
3 - 92X
Solve each equation. Round to the nearest hundredth. Al (30 63> —,-,33 o @8 AI S¥alagd! e JS U
4;[‘ =13 64—335 =6 ',_;.2 + b =12
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—3 W:la-\ol
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8Y =0.165 1.434 3.1 =8.48
e
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Solve each equation.

& + 6e* — 16 = 0

A S¥alagd! o US e
46" + 8¢ =5

1)1. 2x qx 2« _
() 4¢ (e®) -1k =o ¢ +2e -¢ zo 4o +8e -5S=zo
W x 2N 2z
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Solve each equation.

In(x+2)+In(Bx—2)=21In2x

In(7x+3)—In(x+ 1) =1n (2x)

l/()w-?)(%x —2) = /M(\?k}z

l/ Fr+3
/

RV

A S¥alagd! o US e

m(2x+1)+m(2x—3)=2In({2x— 2)

(242 (33 =2)=(20)" z ) Lot — U =3 = 1 Q2
3544 =4 o 4" Fr b - 2x gr -4x = 4 +3
25 _Ux 4+ 4 =-o - ( ey = 7
(x —23(x-2)-0 Tx 4 3 = 2x(x 1Y) l:m
> =2 ) 7x 43 =2x 42X \f__\,
2xty2x -Fx —% =© 7
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log,, 12x + log,, (x —1) = 2 |In (6-”4—: 2)=In(y+1)=InQ2y—1)] log(x—12) =2 + log (x — 2)
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